Ef-TEBRRAREE-—ER AMSE6HsAEAE
e o XEEE WEERTRE
i 2P X =R
HIEAT — R X HER
METHEEFLOLME RIS
X7 (BKE) FER=EHEE |19
(EWKE) |TIERSIEHEE 134
TSR EEREE
#ok EE = =
EEMNSATR T #2)
'K
= - > fE 18m/s T/yEES
RESE SEEE =y 2om/s BEES
XE BEDES 2B B E ) R=200m
KR HEES 6.0m
= B fi 15m
X7 cERNEEREE |1
TIERSIEHEE 105
TSR EEREE
K %ﬁ%ﬁ: FTECBR ) RI8E= (5, 41.3)
EEMNSATR \mam T - 52
= - . fE £ 13m/s FEES
A= FHRE B Tom/s TEFS
XE BEDZES 12 RIEE O R=100m
KR e 3.0m
N = Bt 0.9m
- £ EEZICKVBEENTREINGEA
mE MEICKYEENTEINSEE
T e %j 100m
w8 %ﬁ/l\iﬂgw% %?ﬂiﬂgeswmﬁm/sui
R/INEE3SS EXhEE60%
Bh DL T248 R E O R E40cm Ll £
*/= QEEH50cmEL LT, BFHSR5°CLLE D A ARk
Eﬁﬂ:%E-Esiﬂi-$iﬂﬁiﬂwb\fhh\hf$$$U4~5°CD,U:1EL\Eib“%ﬂinl«;lJ:ﬁ():%
€8 £ DBRESEN-TCUT
QOBRIESREMN-5CLLTAHAELE*?
] BE.BEHCESORRESE2CUT (BEHIIREVMOEETEEELERET )
EK-ES REFEROEHE T TCREN-2CLYSNES
e PN ] 1B T100mm

EREREEY, RERSIER OHEAFSHhEICLAREEERLTIVET.
2 2HORERMIAERERE . AEHNBESKBEANROE,



